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Exercises 3 and 4: Graph the following:
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Exercises 5 and 6: Graph the following:
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Exercises 7~ 10: Evaluate the logarithmic expression without using a calculator.
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Exercises 11 — 12: Rewrite the equation in exponential form.
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Exercises 13 - 23: Solve the equation.
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i Find the amount A accumulated after investing $4800 for 17 years a‘t 4

rate 6.2% compouned quarterly. T ‘_
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26) How long would it take for your investment to double if it is compounded
continuously at 8.5% interest rate?
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27)  If Jane invests $1500 in a savings account with a 6% interest rate compounded
monthly, how long will it take until Jane’s amount has a balance of $5200?
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Condense each expression to a single logarithm.
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Expand each logarithm.
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